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QUESTION 1

The exhibit represents an FCIP tunnel configuration that merges the two FC SANs at either end of the tunnel. Which
types of ports do the labels "X" and "Y" represent on the FCIP gateway shown in the exhibit?

FCSAN _ FCSAN
- LAM/WAN -
. ! b 2555 : :
e E ; E SIS
Storage System Storage System

A. X =E_Portand Y = VE_Port
B. X =F_Portand Y = VN_Port
C. X =VF_Portand Y = E_Port
D. X=VN_Portand Y = VE_Port

Correct Answer: A

QUESTION 2

A customer wants 24x7 availability for a business application that uses a file system. Which operation ensures a
consistent replica of the file system?

A. Unmount the file system prior to the creation of the replica
B. Stop the application prior to the creation of the replica

C. Flush the file system buffers after creation of the replica
D. Flush the file system buffers before creation of the replica

Correct Answer: D

QUESTION 3

In an FC SAN environment, an administrator wants to ensure that a particular switch port cannot function as an E_Port
and cannot be used to create an interswitch link. Which security mechanism should the administrator use?

A. Port type locking

B. Port binding
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C. Persistent port disable
D. Fabric binding

Correct Answer: A

QUESTION 4

Which capability does big data analytics provide?

A. Enabling data-driven decisions from large volumes of data
B. Storing large volumes of data without affecting availability
C. Reducing the data storage capacity requirement

D. Performing analytics using traditional tools

Correct Answer: A

QUESTION 5

What provides the ability to automatically relocate extents across physical storage drives over the entire pool when new
drives are added to the pool?

A. Storage pool rebalancing
B. Extent relocation

C. Storage pool tiering

D. Automated extent tiering

Correct Answer: A
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